Straight Line Homework 1 - Marking Scheme

Question | Main points of expected responses
1 o' Parallel comment Since parallel same gradient
o’  Gradient m=—2
3 . 3
Equat
o quation y—2=—2(x+3)
2 o' Gradient m=-L
o>  Angle 300 V3
3 o' Mid-point D(1,-1)
o’  Gradient Myp = —=
3 : 3
E
° quation y+1= _g(x_ 1) OR
4
y—3=-— 3 x+2)
4 o' Mid-point M(5,1)
o’  Perpendicular Gradient Mpen = —=
o>  Equation 3
y-1=-2(x-5)
5 o' Gradients Myp = Mge = —1
o’  Statement since myp = Mg
o> Statement Point in common B
6 (a) o'  Gradient Map = 2
o  Gradient Mmpe = —=
o>  Statement ; ? = —
since myp X mge = —1
right angled
6(b) (i) |e! Mid-point D(2,-1)
o’ Gradient Mar = <
o> Equation w s 1
y+1=-(x—2) OR
1
y + 3= § (X + 4)
6 () () |e'  Mid-point E(1,-3)
o  Gradient Mpp = — =

. Equation

3
y—1=—2(x+2) OR

4
y+3=—§(x—1)




Straight Line Homework 1 - Marking Scheme

6 (b) (ii)

1

2

Evidence of Sim. Equations

Gradient

x—3y=5
4x + 3y =-5

x=0 y=-3




